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1. Which following valley of Himachal Pradesh is not matched correctly? 

 (A) Balh  -- Mandi 

 (B) Sangla  -- Kinnaur 

 (C) Pin   -- Kullu 

 (D) Churah  -- Chamba 

 

2. Which following is not correct  about Kangra district  of Himachal Pradesh? 

 (A) The Beas  river enters it at Sandhol 

 (B) The Beas river enters it at Har 

 (C) There is only one tributary of the Beas here. 

 (D) There is no ancient inscription in the district. 

 

3. Identify the lake of Himachal Pradesh which is located at the highest altitude, from the 

following:  

 (A) Nako  (B) Kalasar  (C) Chandrakup (D) Shringtingu 

 

4. Which following district of Himachal Pradesh had more female  rural population than 

men as per Census-2011? 

 (A) Bilaspur  (B) Mandi  (C) Lahaul-Spiti  (D) Kinnaur 

 

5. Identify the rank of Himachal Pradesh of its total geographical area in India in 2022, 

from the following: 

 (A) 17
th

    (B) 15
th

   (C) 20
th

  (D) 21
st
  

 

6. Which following is the increase of correct percentage of Himachal Pradesh‟s Gross State 

Domestic Product at current prices in 2022-23? 

 

 (A) 10.7 percent  (B) 13.6 percent 

 (C) 12.8 percent  (D) 11.4 percent 
 

7. How many S.Cs., S.Ts, and OBCs persons  have been benefitted  upto December, 2023 in 

Himachal Pradesh under the Swaran Jayanti Ashray Yojana/ Housing Subsidy? 

 

 (A)  754   (B)  765  (C)  547  (D)  610 
 

8. Identify the district of Himachal Pradesh, which had the largest number of Backward 

Panchayats in 2014: 

 

 (A) Sirmaur   (B) Hamirpur  (C) Solan  (D) Una 
 

9. Which following  location of the Adi Brahma temple is correct in Himachal Pradesh? 

 

 (A) Dyar  (B) Sungra  (C) Kokhan   (D) Nirath 
 

10. From which following state of India, Himachal Pradesh‟s Density of population per 

square kilometer was less, as per Census-2011? 

 

 (A) Arunachal Pradesh (B) Meghalaya (C ) Manipur  (D) Sikkim 
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11. How many Medals have been won by Himachal Pradesh University, Shimla in Khelo 

India University Games-2024? 

 (A) 12    (B) 10  (C ) 07    (D) 08 

 

12. Identify the year when Shimla became the capital of British India, from the following : 

 

 (A) 1858  (B) 1876  (C) 1864   (D) 1870 
 

13. Identify from the following authors of Himachal Pradesh, who has written the „Himavat‟: 

 

 (A) Nicholas Roerich      (B) Nora Richard  

(C) Chandradhar Sharma Guleri    (D) Satya Nand Stokes 
 

14. Which following Chief Minister of Himachal Pradesh had the longest tenure of office? 

 (A) Y.S. Parmar     (B) Shanta Kumar  

  (C) Thakur Ram Lal       (D) Prem Kumar Dhumal 
 

15. Identify the district of Himachal Pradesh where the Pajotha Peasant Movement was 

organized, from the following: 

 

(A) Shimla  (B) Sirmaur   (C) Mandi  (D) Kangra 
 

16. Which following Article of Indian Constitution deals with the Fundamental Duties of the 

citizens? 

 (A) Article – 51 A (B) Article – 46 B (C) Article – 53 A (D) Article – 50 B 
 

17. The 7
th

 Economic Census of India was conducted in: 

 (A) 2020  (B) 2021 (C) 2019           (D) 2018 

 

18. Which following is correct about the Pradhan Mantri Awas Yojana-Gramin? 

 (A)  It provides Rs. 1.25 lakh per unit for constructing pucca house in plain area 

 (B)  It provides Rs. 1.30 lakh per unit in the hilly areas. 

 (C)  The minimum size of the house is 20 square meters 

 (D)  The minimum size of the house is 30 square meters 

 

19. The Wangala Dance Festival belongs to which following State of India? 

 

 (A) Jharkhand  (B)  Chhattisgarh (C)  Maharashtra (D) Meghalaya 

 

20. Identify the state of India which established the institution of Lokayukta for the first time: 

 

 (A)  Gujarat  (B)  Maharashtra (C) Karnataka  (D)  Andhra Pradesh 

 

21. In which following mountain range, the Thalghat gap is situtated? 

 

 (A)  Western Ghats    (B)  The Aravalis 

 (C)  Nilgiri Hills    (D)  Dhauladhar  range 
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22. Identify the Society which was founded by Gopalkrishna Gokhale, from the following : 

 (A)  Young Indians Society   (B)  Poona Sarvajanik Sabha 

 (C)   Servants of India Society   (D)  Servants of People Society 

 

23. Which following is correct? 

 (A)  The Anadaman and Nicobar Islands are in the Arabian Sea 

 (B)  The Lakshadweep Islands are in the Bay of Bengal 

            (C)   Lakshadweep has the largest number of Islands 

 (D)  Andaman and Nicobar has the largest number of Islands 

 

24. Identify from the following countries which has become the third largest economy of 

World: 

 (A)  Australia   (B) Canada  (C)  Germany  (D)  Russia 

 

25. In which following city the Second Summit took place between the US President and the 

North Korean leader? 

 

 (A)  Hanoi   (B) Singapore  (C) Bangkok  (D) Sydney 

 

26. Identify the International Day for the preservation of Ozone Layer from the following: 

 

 (A)  September, 05    (B)    September, 10 

 (C)   September, 12    (D)  September, 16 

 

27. Which following country is matched correctly with its medals in World Athletics 

Championships-2023? 

 

 (A)   Canada – 15    (B) Kenya - 18 

 (C)  USA - 29      (D) Spain – 12 

 

28. Identify from the following, the correct number of members of the European Free Trade 

Association: 

 (A)  02   (B)  04   (C)  05  (D)  07 

 

29. Of the following, who has won the best Actress Oscar Academy Award in 2024? 

 

 (A)  Emma Stone    (B)  Cillian Murphy 

 (C)  Miley  Cyrus    (D)  Billie  Eilish 

 

30. Identify from the following countries which is the first NATO member to suspend its 

embassy in Russia in 2023? 

 

 (A) Japan     (B) Sweden 

 (C) France     (D) Iceland  
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31.  'अये! दषु्ट याऺस! तेया अॊत अफ ननकट है'।  येखाॊककत ऩद भें ककस कायक के ऩयसगग का प्रमोग 
हुआ है? 

 

A. अऩादान  B.  सॊफोधन  C.  अनधकयण  D. कताग  

 

32.  भहात्भा जी ने दाॊडी मात्रा के नरए प्रस्थान ककमा। येखाॊककत ऩद सॊऻा का बेद है? 

A.  जानतवाचक  B.  व्मक्तिवाचक  C.  बाववाचक  D.  सभहूवाचक  

 

33.  ऩलु्रॊग-स्त्रीनरॊग का कौन-सा मगु्भ सही नहीॊ है? 
 

A. नतगक - ननतगका    B. क्तवद्वान - क्तवदषुी  

C. वीय - वीयाॊगना    D. स्वाभी - स्वानभनी  

34.  तभु दसूयों से जैसा आचयण कयोगे, रोग तमु्हाये साथ बी वसैा ही आचयण कयेंगे। यचना की दृक्तष्ट 
से वाक्म का प्रकाय है - 
A.   सयर वाक्म    B.  नभश्र वाक्म  

C.  सॊमिु वाक्म    D. साधायण वाक्म  

 

35. सड़क के ककनाये जो आरीशान भहर कदख यहा है, वह भेया है। येखाॊककत ऩद ककस सवगनाभ का 
उदाहयण है?  

A.   ननश्चमवाचक   B.  अननश्चमवाचक 

C.  सॊफॊधवाचक   D. ननजवाचक 

 

36. 'अमोग्म' सभस्त ऩद ककस सभास का उदाहयण है? 
A.  कभगधायम  B.  फहुव्रीकह  C.  नञ ्तत्ऩरुुष  D.  द्वॊद्व  

 

37. सम्राट अशोक ने क्तवश्व को शाॊनत का उऩदेश कदमा। मह वाक्म ककस वाच्म भें है? 

A.  कततगवाच्म     B. कभगवाच्म   

C.  बाववाच्म     D.  इनभें से कोई नहीॊ  

 

38.   "कढ़त साथ ही म्मान तें अनस रयऩ ुतन ते प्रान।" - इस ऩॊक्ति भें कौन-सा अरॊकाय है? 
 

A.  अन्मोक्ति  B.  अनतशमोक्ति  C. सभासोक्ति  D.  मभक  

 

39. 'फाॉछें  लखरना' भहुावये का अथग है - 
A.  पूर लखरना     B.  फछड़े का जन्भ रेना  

C.  फहुत प्रसन्न होना    D.  फच -फचके खुशी जाकहय कयना  
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40. ननम्ननरलखत भें शदु्ध वाक्म का क्तवक्ऩ है – 

 

A. भैंने घय जाना है।   B.  भेये को घय जाना है। 
C.  भझेु घय जाना है।   D.  भझेु घय को जाना है। 
 

41.   Choose the right option to fill in the blank. 

My father ... the award when he ... 30 years old. 

 

A. has received, was   B.  receives, had been 

C. received, was   D.  used to, is 
 

42.   Choose the right option to complete the statement. 

Many ...  has tried to solve ... you sent.  

 

A. a student, the puzzle   B.  students, the puzzle 

C. a student, a puzzle    D.  students, puzzle 
 

43.   Choose the correct indirect form of the following: 

             The doctor said to Reena, “No surgery is required as you‟ll be alright soon.”     

 Choose the correct sentence: 

 

A. The doctor told that Reena would be alright soon as no surgery is required.       

B. The doctor forbade Reena to require a surgery.  

C. The doctor informed Reena that no surgery is required as she will be alright soon. 

D. The doctor told Reena that no surgery was required as she‟d be alright soon.  

 

44.   Choose the correct question tag. 

I went to the college, … 

A. amn‟t I?     B.  aren‟t I? 

C. didn‟t I?     D.  wasn‟t I? 

 

45.   Choose the correct sentence. 

A. Delhi has its own versions of how different sweets are made. 

B. How to make different sweets are a mystery in Delhi. 

C. How are different sweets made have a mystery in Delhi. 

D. Delhi is it‟s own versions of how to made different. 

 

46.   Indicate the appropriate synonym of the underlined word. 

I‟m sending a copy of my proposal for your perusal. 

A. guidance     B. scrutiny 

B. replication    D. implication 

 

47.   Indicate the appropriate antonym of the underlined word. 

There exists a metaphorical gulf between the two brothers. 

 

A. Symbolic    B. assumed 

C. real     D. divine 
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48.   Indicate the option which can explain the underlined segment. 
 

His repeated success shows that he can feel the pulse of the people. 

 

A.   he cheats people regularly.  B.  he takes care of people‟s health. 

 

C.  people genuinely respect him. D.  he can identify the mood of the   

        people.  
 

49.  Indicate the option which can replace the underlined segment without changing the   

meaning of the statement. 

Sanchit has been accused of dereliction of duty. 

 

A. Wilful neglect of responsibility  B.  Delegation of powers 

C.   Fulfilment of duty    D.  meticulous approach  

 

50.   Arrange the given parts to make a meaningful sentence. 
 

p. Neera says that she    

q. regarding an ideal friend  

r. is caring and has  

s. a great sense of humour 

t. is looking for someone who 

 

A. prqts  B. ptqsr  C. sqrpt  D. qptrs 
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Space for Rough work  


